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H=m+— — -
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— ={({— 4.12
<2m2 T p> <2m2 T ><p> ( )
O00O00000000000Virial OO

<p2> — (V) (4.13)
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ogooood

dp mM

E:eEjLeva—G 3 T

(4.16)

DDDDDDDDDDDDDQDDDDDDDDDDDDDDDDDDDDDD

DDDDDDDE:m+%+--~DDDDDDDDDDDDDDDDDDD

m
googboboobobooobboooboobobbbooboobbonon
gbobobuooobobboooobobon



44. 0J00OO0OD0OOOOOODOODOODO 41

4.4 0O00O0OOOOOOOOOOOOOOO

DOO00b000b0d NewtonOOOOGOOOOOOOODO V(r):—G@D
oo obobboobobbbbobbbbbbbn
gobbobbobboobodgboobuooboobbobbobboon
gobobobooooobboboooobbobooooobobboooobooo
GgpSOOOOOOOOOODOOODOOODOOODOOOOOODOOOODOOO
gboodgboobboobuodgbogbboobooboobooboooon
oboobon

GmM 1 /GmM\?
Vir) =— 4.17
(r) r +2mc2< r ) ( )
O0000000D000000000000ONewton 0000
GmM 2  G*M?>
mit = — - o (4.18)

r2 mr3 c2r3
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AT pne year = 6.675 x 107 s (4.37)
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gbbobooooboobooaobon

3.156 x 107
A =A - ~ (9. 4.
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